PA-699 Current Probe testing:

Noise:
1ms peak-captured trace, 20MHz BW:

1V/A:
~6mVp-p (i.e. 6BmAp-p)

~850uV stdev

0.1V/A:
~750uVp-p (i.e. 7.5mAp-p)

~100uV stdev

Max trace movement when shifting probe:
1V/A: ~80mV (80mA) swing in output (i.e. +/- 40mV when trace centred in neutral position)

0.1V/A: ~8mV (80mA) swing in output



Square wave response: 0.1V/A:
1kHz 100mAp-p, Red trace = PA699, blue is reference CT (300Hz low freq -3dB point causing droop @1kHz):

-5.084 mV -2.83T mV 24 .83 mV dv': Z7.66 mvf 180ns

civer 22 | Tracer:=Chan A |M1:Chan A (M2:Chan B |Freq: Inf KHz Graph dT
Amplitude
Time Tr0.D us 0.000 us 000D us dt: 0.000 us

10k:




Freq: Inf KHz
dv: 13.31 mV

dt: 0000 us

cimvar 25 | Tracer:=Chan A |[M1:Chan A |M2:Chan B |Freq: Inf MHz Graph dT
Amplitude [ 1.003 mV 0.680 mV 11.15 mV dv': 10.47 mV 10ns
Time -1837 3 ns 10.000 ns 10.000 ns dt: 0.000 ns




1V/A:

1k:

wver 22T [Tracer:Chan A [M1:Chan A |M2:Chan B |Freq: InfKHz  |Graph dT
Amplitude| 17.70 mV -3.582 mV 10.64 mv dv: 14.32 mV 180ns
Time $24us 10.000 us 10.000 us dt: 0.000 us
o
raph horizontally [Ctrl Left Arrow]
10k:
wver 22T [Tracer:Chan A [M1:Chan A |M2:Chan B |Freq: InfKHz  |Graph dT
Amplitude | 20.05 mV -2.843 mV -5.874 mV dv: -3.031 mV 10ns
Time B6.52us 10.000 us 10.000 us dt: 0.000 us
T T
i i
dgraph! [Ctrl Right Arrow]







Frequency Response:

1V/A:

Tracer:Chan A ([M1:Chan A |M2:Chan A

-0.080 dBG

0.166 dBG

0.165 dBG

1485800.0 Hz

1000.0 Hz

1000.0 Hz.

e (]

0.1V/A:

Tracer:Chan A ([M1:Chan A |M2:Chan A

-20.01 dBG

-20.08 dBG

-20.0& dBG

14856800.0 Hz

1000.0 Hz

1000.0 Hz.




Test Setup:

Note: Green CT (used as reference) is a Pearson model 2877 with -3dB points of 300Hz and 200MHz and very flat
response.



